Souffleur 18 V Li-lon BUB182Z

Page 1

'II, ,’ A!! ! H

Ao

200810
BuB182



Souffleur 18 V Li-lon BUB182Z

Iltem Parts_No. Parts_Description Qty
1 KW00000210 VIS 4X18 4
2 TP00000112 SET CARTER DE VENTILATEUR 1
2 INC. 8 0
3 KW00000220 VIS M5X18 1
4 KW00000160 RONDELLE M5 1
5 KW00000170 RONDELLE PLATE 5 1
6 KWO00000100 VENTILATEUR AP-10302 1
7 KW00000210 TAPPING SCREW 4X18 3
8 TP00000112 FAN HOUSING SET(AS-890FHL-MK-R 1
8 INC. 2 0
9 KW00000150 RONDELLE CAOUTCHOUC A 1
10  TPO0000113 MOTEUR 1
11 TP00000083 RONDELLE CAOUTCHOUC B 1
13  TP00000087 CARTER MOTEUR 1
14  TP00000084 RESSORT 1
15  TPO00000085 AXE 1
16  TP00000086 BOUTON 1
17  KWO00000230 INTERRUPTEUR 1
18  TPO00000115 CARTER POIGNEE 1
19 KWO00000210 TAPPING SCREW 4X18 6
20 GMO00001055 BASE BATTERIE 1
21 KWO00000200 CONTROLEUR DE TEMPERATURE 1
22 KWO00000270 RONDELLE M3 1
23  TPO0000081 VIS M3X6 1

A01 132025-7 NOZZLE ASS'Y 1

AO01 414145-2  JOINT 1

FO1 192236-6 ANCHOR NOZZLE 1

F02 122321-1  SAC A POUSSIERE 1

F02 410602-8 FASTENER 1

F03 134182-7 NOZZLE ASS'Y 1

FO3 414145-2  JOINT 1

F04 132025-7 NOZZLE ASS'Y 1

FO4 414145-2  JOINT 1

F05 191750-9 FLEXIBLE HOSE SET 1

FO5 INC. FO6-F09 0

F06 411891-8 CORNER NOZZLE 1

FO7 412040-0 STRAIGHT PIPE 1

F08 410208-2 FLEXIBLE 1

F09 410872-9  JOINT 1

Page 2

7

A A 4 A A A A



	Feuille1

